P113 lecture notes for September 19, 2002

[image: image1.png]. S . -
i% -5 shatile

1ol

Assime

Y= 4T e

at wuitls horfd
(mot exactly froe)
! (,G Gt o huue clowd orbit

We wilt clo maney fLw), Jorhs ete. with Cicaude, sotion

Remenoer

Ciralag Mobina &> &= £ ity




[image: image2.png]Newrton's Lows of Mobitg — e Ts aac Nestons
Q6s7)
Fomdot i of Qs s\ Mihonies

15 Lo of Motion — Lo of inortine

# skl by wo Force foss c»“/-«.{'
vm‘,;.,h’;:,,w, 30e0) Comd Ypus Aces!

—or-

baly pesishs in ity st of mabisn donlons actcd
o exfinl

et fore

et

P TR R i

2 Les ok Motirn - fora Lo
The eccelemting atff‘.‘ oi,fd is ..,,m%

omal o Hy—swysml e do
e il = Fa retr of LN

208 (o 157 e
< £F =mad #iFzo, G0

Sttty o etk tal formetatims

3% Law oF Mobin « s of Actime + Reactio
For eviney action thare is o egial awek opposite

feashn




[image: image3.png]- —
BE 30 Lo i hanlest fo car amenptnlle .

o /"ﬂ.w ball g 162” You apgly Force ko butt
bate wpplies borce bo you

v

o \ y

\\w": “vecot o aqua Lo sficte bucke omice
Al Skl become Clean iy emamples

e
\,} Somebincs Stredacts Fiid He 15 les hand b Siellon
O by Hoinic oF an exemple e Fhe (T
! Cas is T Trae 5,

Stess « Stops

Cor o0 Slop damshs Gy bo sugne
o+ STeps

Cart oo STy pushing -
I

Q) b Iy mn L R
Us leh objects moue o rec "+ ra vacaus™
o mind.
Frebine & Air syichoce leep o [ (os Fron
Seemin, ho ke b in red (ke Tlaiy is incrmoct
Thbre e ceberding Forces - You just avea'f
Alump asare of Fhinn

T 2l aleer b

Foree

,,,.w// Mass





[image: image4.png]Tos is inertial Mass
How does tis relade +o Weehd 7

Gmvitukwak forea |

IFl= & mome
® e v

et ler M, = Mg,
\Fl = 6 Me ™o
T
Cen adiuy of et = 635 R0
6z 9?.‘,;&»:,....4 Constrnt = bbFx05”" ”'“:Z,“
descrthes how Shomg Ganily 15 as & fpr‘g:_
M, 2 Sarxio™ ke |
GMe = q= qgmygt
[

Weioht is the G mugmtude of The force of gtasly
due b0 eartlis qun. abpackio New eatl's ;«/A«

vt = [F[= mgT B

Weid® o Moo MG*:—T‘”) |




[image: image5.png]it of weiht s Neahon (0T k5 ) i Mks

T s
Sepiu Fores Mass Acelewtir
mics Nadtrs wer g g
Cqs e am emsgt
Baglish Pposmch Sleg P/t

o English sphen |
Fzma ,‘
2
FGe Weidh Cpomile) = Mass (btegs) 32 {T
/

s CMe oy enlist os
X3 i

sciof of A et ;

Kot Lugs e Z \
F Lt dbernigles, ;

Use /5. 4uifbomee .f Neotou's looss  hocomes.
clian How exenples |




[image: image6.png]_Recige_for Newton's Lusy L S —

1) UndersTaud preblem — Drow o weat diegrans
oF overau proble

2) Dawwa Free buly dingtam For eacs relevont
oblecT ~ Lube/ with all tebvent forcas

]
3) Choose Convewiewt Coorelinufe Spstem for
e object, Apply Nestons Secrd o
(in apgroprat ortasmal condines)
ZRzma,  ZRyemds Zfond

o |
SF 2 Ry = ma

Coodiell's chosen For encle bocl, et be reliled
fo these chosen for othac hactes +u M"w&h“

4)  Keeping Syubols i plce (wor #% yet)
‘ Solue -vsalf;n? Sef a{ CGtatims Stadltenermsly

S) Check aubver answer with lisiting cosos aucl
\ olimscrionad auntysis





[image: image7.png]Man W] FMass 1o|zs.

| dongles ot e oF ape;
tling dain,

A A Secu résciun by

‘{//1‘//1{\/, betriapren..

! Hebfophn accrlndte wpwerdkat 4 M.
Whet $esions MuaT vpe withstnd T

Free body Aiaguams |

et Fase mmcotors = |
» =17 |
e e o mess oF P
e r Tonghan my i
LA ] |
Mo v Bloptr borh Accelewle ulryu'( ot \4“/;
2 for s i

X dincchirn ZFz T-ma=may

5:‘: My T- Gory4s M/bx)—_(b )%
T=o leq) (13,6 "5
P »M (o kea)( 5)

onany G

‘Lsﬂ;"‘ T= %N





